| Click to Close |

EXPLODED VIEWS & PARTS LISTS 2005
COMPACT ICEMAKER / MODULAR ICEMAKER

Ref.  Part No. Description Ref.  Part No. Description

1 4290070 Icemaker Assembly - See 14 6220220 Screw Grommet, 1/32 x 3/8" SQ
4202850 18 3140160 Icemaker Cover with Instructions

2 2809401 Shut-off Arm 19 4202730 Ice Level Arm Package

3 3220200 Snap Bushing 20 628228 Mold & Heater Assembly - Also

4 3450420 Shaft Collar order 542638 silicone

5 6110500 Set Screw, #8-32 x 3/16" 22 628356 Bearing & Inlet for Modular

6 6240180 Nylon Washer, .437 x .260" Icemaker

7 3220180 Snap Bushing, 3/8" x 1/4" 23 627843 Ejector

8 3421190 Icemaker Arm Guide-Used on 24 627788 Ice Stripper
4290070 25 627790 Support/IM Housing

9 3450330 Plastic O-Ring 26 627792 Thermostat Retainer

10 3420880 Roller 27 627985 Thermostat (Modular IM)

11 3450360 Extension Spring 28 489163 Screw #10-32 X 43/64

12 4160600 IM Sensor Return Mechanism 29 628366 Module & Motor Assembly

13 0233220 IM Bracket - Front 30 681249 Screw

4-58



| Click to Close |

| D> B2 EXPLODED VIEWS & PARTS LISTS

COMPACT ICEMAKER / MODULAR ICEMAKER

4-59



	Button4: 


